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Esercizio	6.	
	
q	=	4xy2	+	8x2/y			;	xb	=	¼		,		yb	=	½			;		dx	=	0.01	,		dy	=	0.02	
	
q/x	=	4y2	+	16x/y						;					q/y	=	8xy	–	8x2/y2		
	
qb	=		4	¼	(½)2	+	8	(1/4)2	*	2	=	¼		+	1	=	1.25	
	
q/x	dx	=	[	(4	*	¼	)	+	(16	*	¼	/	½)	]	*	0.01	=	(1	+	8)	*	0.01	=	0.09	
	
q/y	dy	=	[	(8	*	¼	*	½	)	–	8	*	(	¼	/	½	)2]	*	0.02	=	(1	–	2)	*	0.02	=	‐	0.02				
	
dq	=	[	(q/x	dx)2	+	(q/y	dy	)2]	=	(0.0081	+	0.0004)	=	0.09	
	
Risposta:	qb	=			1.25;		δq	=	0.09	
	
	
Esercizio	7.	
	
A = x 
 
 = (1/N) i xi = 3.5    ; N = 5 
 
dx2 = i ( - xi)

2  =  0.26              [ dxi = (0.2, -0.2, 0.3, 0.0, -0.3) ] 
	
	=	[	dx2	/	(N‐1)]1/2	=	[	0.26	/	4	]1/2	=	0.25	
	
Risposta:				A	=		3.5,		=	0.25 




